Rechnen mit HohimaBen

9hl501+5hl511=
10hl451+15h1 191 =
15hl341+4hl1]=
3hlI531+5hl191=

2hl131-1hl301=
4hl501-3hl531=
51hl121-13 hl 1=
23hl191-15hl291=

5hi13 1.4
16 hl121.9

7hl41.5 ’*
2hi1l.5
351hl501:5 ——
453 hl91: 3 \J
53 hl 52 | : 8
71hl921: 4

Rechnen mit Hohimafen

9hl501+5hl5b1]=
10hl451+15h1 191 =
15hl341+4hl1]=
3hlB531+5hl191=

2hl131-1hl301=
4hl501-3hl531=
51hl121-13 hl 1=
23hl191-15h| 29 | =

5hi13 1.4
16 hl121.9

7hl41.5 L°
2hi1l.5
351hl501:5 ——
453 hl91: 3 \J
53 hl 52 | : 8
71h1921: 4
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